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Math (Science

Time: 20 Minutes
Note: Four possible answers
question are given.

questlon wit}
k. Cutting o

(a) Zero
(c) Scalar v
5. 423 with radical sign g S

(a) N4V (b) \/‘3
(c) A4°
3- loge~=
(a) O
(c) 1 |
4- (Ja++/b) (\a- \/b) is equal to:
(a) a2+ b? (b) a?— b?
(c) a-b ¥V (d) a+b
5- The square rootof a2-2a+1 is
@ t(@+1) () t(@-1)v
(c) a-1 (d) a+1
H.C.F of x* - 5x + 6 and x2 - x - 6 is

6-
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B0 - 1Y * 1) = (0, 0), then (x, y) Is:

@ (DY () (1)

(d) 2

-I ) H .
o | .
-
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k.

~ 40- Bisection means to divide into equal parts.
(@) 2 V (b) 3
(c) 4 (d) 5
11- Medians of a triangle are:
(a) Different (b) Concurrent v
(c) Equal (d) Same

12- The right bisectors of the sides of an acute
triangle intersect each other the triangle.

(a) Inside v " (b) Outside
(c) On the hypotenuse (d) On the base

13- A line segment has exactly midpoint.
(a) Two (b) One v
(c) Three (d) Four
14- Area of the given D figure Is:
4 cm
(a) 16 cm? v (b) 8 cm
(c) 4 cm (d) 12 cm?

hase of an isosceles triangle i3

- One angle on the _
. ~ sure of its vertical angle

20°. What is the mea
4
(a) 90° (b) 30°
(c) 60° (d) 120° V




Math (Science)
Time: 2.10 Hours

(Part-l)

2 Write short answers to an
i) Define symmetric matrix.

A square matrix A IS sym
transpose, /.€.,

y Six (6) questions: 1

metric if it IS equal to

Al = A
(ii) Find the value of a,
matrix equation:

[a+c , a+2b]_[0 -7]
c-1 4d-6 | |13 2d
Ansg By comparing, we get
a+c=0 (i)
a+2b=-7 (ii)
el =9 (i)
4d - 6 = 2d (iV)
From (iii),
c-1=3
c=3+1
c=4

b, ¢ and d which satisf,

Put c in (i),
a24+4=_0
a=-4
Put a in (ii),
4+ =i
2b=-7+4
2b =-3
C =0
Z 2
From (iv),
4d -2d =6
2d=6
d=3 Lo




in ordmary notation:  9.018 x 10-5

9.018

~ 1000000
= 0.000009018
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3 Write short answers to any Szlx (6) questions: -
) Find H.C.F.: 102xy?z, 89X°yZ 1
Factors of 102xy2z =2 x 3 X 17 xXxyxyxz< -

Factors of 85x2yz =5 x 17 x X x XXy X Z
Common Factors =17, X, Y, 2
H.C.F = 17Xyz

% Define linear equation.

- jon i wn variable x is ap!
A linear equation in one unkno 5 n

equation of the formax + b = 0,a,be B and a # 0. .
% Solve the equation: [3x-5|=4 |

-5= : 3x-5=-4 .
72 33:44"'5 ; 3x=—4+5 |
GX =g e T 3x =1 ;
SRR o |

X=3

%Deﬂne origin. :
If in a plane two mutually perpendicular lines are
drawn, then their point of intersection is called origin.
(v) Find the values gf T and c of the line 2x -y =7
. expressing it in the form y = mx + c.
LD Given line: | :
2X—-y =7
2X—-T=y

y=2X-7

—
Here, |
(vi) Find the distance between

A(2, -6), B(3, -6
LID The given points are: )

_A(2,-6), B(3, -6)
The distance formula is:

d=|AB| = (3-2)2+ (-6 + 6)2

the points:



o I e i, e

o £ r.‘ ;j T'-I- . £ 3
il 'JM’“J A JMAT "E“
. | LSS EPrL... . il 3

.-,.-'I—‘- e -I'-F;ﬁ.-.'_‘.... .

TICS o7

gind

The given poINts are:
B A3, 1), B3, -

_ (343 ~11-4
M“( g e )

(332

1 What is meant by S.5.S. postulate?

- In the correspondence of two triangles, if three sides
- of one triangle are congruent to the corresponding three
-~ sides of the other, then the two triangles are congruent.
.~ rhat is called S.5.S postulate.

‘(iX) Find the unknowns in the given figure:

.‘

l'I'I' Y

[X® As in parallelogram, opposite angles are equal,
' -sian=75% and m°=x%
Also. x°+ m° + n° + 75° = 360°
x° + m° + 75° + 75° = 360°
x° + m° + 150° = 360°
x° + rn° = 360° — 150°
| x° + m°¢ = 210°
But xX°=m°
— X0+ x°=210°
2x° = 210°

210°
Xz 7o

And  [n0=75% , [m® = 105°

4. Write short answers to any Six (6) questions: 12
(i) Define right angled triangle and draw figure.
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- D A triangle in which one angle is right angle,-;.:‘
led tﬂangle, i

(90°), is called a right ang

(i) The length of sldés are 2 cm, 4 cm and 7 cm. Cap, }
a triangle be constructed? Explain. '-
LD As2+4<7 '

Thus triangle cannot be formed, because some of

two sides of triangle is not greater than the length of third
side.

(ili) Define congruent triangles.

LD Two triangles are said to be congruent, if there
exists a correspondence between them such that all the

corresponding sides and angles are congruent.
(iv) Define bisector of an angle.

Ansg Angle bisector is the ray which divides an angle into
two equal parts.

(v) Verify that measures of sides of triangle are of
right angle:a=9cm,b=12cm, c=15cm.
LUD As (Hyp)? = (Base)? + (Alt)?
(15)% = (9)% + (12)2
225 = 81 + 144
225 = 225

£ ot It is a right triangle.
(vi) Find x in triangle:

C

|
4

8 cm 10 cm

ED> As (Hyp)? = (BaAse)zx+ (AEl‘t)Z

(10)? = (x)? + (6)2
100 = x2 + 36
100 - 36 = x4
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W Area =7 % Base x Height

.-=-12-x16><10

i) Define centroid of triangle.
D The point of concurrency of three medians of a

angle is called centroid of triangle.
[(ix) Constructa AABC, in which:

mAB = 3 cm, mAC = 3.2 cm, mZA = 45°

: C

i 3om B
(Part-ll)

NOTE: Attempt THREE (3) questions in all. But
question No. 9 is Compulsory.

Q.5.(a) Solve the following system of linear equations
by using Cramer’s rule:

2x -2y =4
3Ix+2y=6

XD |n matrix form,
5 2Bl

3 2|ly]l L6
| AX=B

iFg o
Here, A= [3 2]
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Q.6.(a) Use log tables to find

(8.97)° x (3.95)?
3\/15.37

Ans 3 o s (8.97)° x (3.95)?
3 3\[15.37
' 8.97)3 x (3.95)2
0a x = log {8:37)° x (3.95)*
SRS e o

(4)

(4)
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= log X = 3 log 8.97 + o 1
09 3.95 - 7 log 15,37

| __ Updo-Date Model Papers HHERY Jm T

f Wﬁy
| :
F.

| log X = 2.8584 + 1,193 _

| 0g X = 316_\ 656 32 - 0.3956
X = Antilog 3.65

X = 4529 ; ;

- +N+p=1
(P yail?le of m?+ nzo.,.agzc_l NN * np + mp = 27, find the
?@Given; AL 5 o BT [0 ' (4)
By taking square both sides, we get
(M+n+p)= (10)2
m2+n2+p2+2(lm+mn+np)= 100
- m< +n? + p2 + 2(27) = 100
i m? + n2 + p? + 54 = 100
m2+n2+p2=100_54
meEnérp=dq6

o.7.(a) Factorize: 8x3 + 60x2 + 150x + 125 (4)
% 8x° + 60x2 + 150x + 125

= (2x)° + 3(2x)3(5) + 3(2x)(5)? + (5)°

= (2x + 5)3
Find the H.C.F. by division method: (4)

X*+x3—2x2+x-3,5x3+3x2-17x+6
Xt i

5x3+3x2—17x+6’x4+x3—-2x2+x-—3|\

x5

5x* + 5x3 — 10x2 + 5% — 15
+ 65 + 3 = 17x2 +.6x

2x°+ 7x2 - x-15
X 5

305 + 35x% — 5x - 75
+ 403 + 6X2;34Xi12

\, 29x% + 29x — 87
. 29(x4 + x — 3) |
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X=2
(b) Draw altitudes of / APQR, when mPQ = 6 cm, mQR
=45cmandmPR= 5.5 cm. (4)

Ansg




| - of cg_gstructlon ;
-~ §to Take PQ line as 6 ¢m long
{, At p0|nt P. draW aon.hb |

4.5 cm arc. Both of them o 2C; and at point
Join R with P and Q_he Fat polnk oW

Given.
AABC.
- To prove.

The right bisectors of AB, BC and CA are concurrent.
- Construction:
- . Draw the right bisectors of AB and BC which meet
- each other at the point O. Join Oto A, B and C.

Proof:

. Statectente’ -0 iReawois ]
OA = OB (i) (Each point on right bisector
of a segment is equidistant
~ fromits end points)

OB=0C (i)

As in (i)
OA=0C (i) From (i) and (ii)
Point O is on the right (O is equidistant from A and
bisector of CA (iv) C):
of ABandof BC (V) Construction

Hence the right bisectors of From (iv) and (v)
the three sides of a A are

concurrent at ‘O’.

OR

Prove that parallelograms on equal bases and
having the same (or equal) altitude are equal in area.



a 57 AR
parallelogram ABCD, EFGH are on equal bagy,
equalauuudes. '

BC and FG, having
Area of (parallelograrm ABCD) = Area of (|

EFGH).
arallelograms ABCD and EFGH g,

Construction: Place the p D |
that their equal bases BC, FG are In the straigp,

line BCFG. Join BE and CH.

Given:

To prove:

Proof: |
Statements Reasons
The given |°™ ABCD and Their altitudes are equal.
EFGH are between the same (Given)
parallels.
Hence ADEH igg,traight line ||
toBC
mBC = mFG Given
~_=mEH EFGH is a parallelogram.
Now mBC = mEH and they
i _are parallel.
BE and CH are both equal and
parallel.
- Hence, EBCH is a A quadrilateral with two |
opposite sides congruent and |

parallelogram.
parallel is a parallelogram. |

Now [|°™ ABCD = |9 EBCH (i) | Being on the same base BC
"~ and between the same

parallels. |
But ||9™ EBCH = ||9™ Being on the same base EH
EFGH (i) and between the same
| parallels.
Hence, area (||°" ABCD) = From (i) and (ii)

Area ((/°™ EFGH




